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Full Marks : 70
Pass Marks : 21
Time : Three hours
The figures in the margin indicate full marks
for the questions. |
Q. No.1 & Q. No. 2 carry 1 mark each - '1x8 = 8
Q. No. 3 (c'z to n.z') carrieé 2 marks each (any ten) 2x10 = 20
" Q. No. 4 (atol) carries 3 marks each (zmy nine) 3x9 = 27
Q. No. 5‘ (a to e) carries 5 mar_ks_ench (any tl.iree) % 5x3 = 15

Total 70 .
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1. Answer any four of the following : 1x4=4

woTS [zl IfInT e Te’ o e

(a) . In which state of India has the lowest pbpulation density as per 2011
census ? '
2011 571 (SIIFEEE WO ©NeY (FHIF AR G Tg 92
Choose the correct answer : .
% SGID Ak Bl ¢
(i) Assam ) A
(i) Rajasthan Az
(i) Arunachal Pradesh  SAIbe] 2T
(iv) Tripura ﬁi‘?ﬁ'l
(b) Which of the following is Fiber Crop ?
TR (AR SO =5 2
Choose the correct answer :
ow TG R TleST ¢
(i) Tea BIR
(i) Sugarcane FRAR
(iii) Cotton TR
(iv) Rice g
(c) The length of Trans Siberian Railway is

™ viRRREN @t oy |

Choose the correct answer :

@5@@3?:57377‘5@1%\957:

() 9332 km soox T

(i) 5050 km eoco fEfil.

(iii) 1000 knt sooo fFfi.

(iv) 8848 km v-8b B
[2]
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(d)  Which of the following country rank first in HDI ?
CEq (TN G ARG F9W THER IPITS AT ?

'Choose the correct answer :

w5 TGIh! T e ¢

(1) . America - SR
(if) Australia AT
(1)) Norway = | . DRI |
(iv) India ' Slread

(¢) Who is the father of Modern Human Geography ?
ST R g g (P 2 |
Choose the correct answer :

we TG AR Tier ¢

(i) Humboldt N0
(i) Ratzel. IGCE=5
(iii) C. Ritter 5. f<GI=

' (iv) None of the above T afbe =8

()  Hugrijan of Uppef Assam is known for which one of the following
minerals ? . '
T TP NG Sod (FRRY RS SIS A TS ?
Choose tlie correct answer :

oo TeRChr AR SIS 2

(i) Crude Petroleum AT A
(i) Coal | T
(iii) Limestone peIet
 (iv) Sillimanite R
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2. Answer very briefly : (any four)
s 5503 TR Wt ¢ (e 1oy

(a)
(®)
(c)
()

(e)

12

(g)

What is migration ?
e 2

Define Linear Settlement.

3R ISR ws=r o |

Which soil is suitable for cotton cultivation ?

AT (AT @ @mﬁa WS T 2

Give an example of plantation crop.

wiol PRI b7 TR fua |

Name one oil refinery of Assam.
SPGB (O CNLRISNEE [T 7|
Give an example of Quaternary activity.

592F 6T by Turad fran |

Name one Biosphere Reserve of Assam.

SR 3 (O RS S = 5l |

3.  Answer in brief : (Any ten)

~1s§(ﬁa*tfaafb‘??n s (R w2br)

(a)
®)

33T GEOG

Give two examples of Primary Economic Activity.

ANAfE QAT FAIER 757 Twizge ﬁ?m

Write &vo subfields of Human Geography.
AMR SOOI 707 Topiig Wi fori |

[4]
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(c)

(d)

{e)

(g)

(n)

0 .

(k)

O

(m)
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Name two major iron and steel industries of India.

SReIF 75! AL @ﬂ\%ﬁtmﬁam fert |

What is mix farming ?

fre R e

What is population density ?
QRN T (2

Which two places were connected by the first railway lines in India ?

- SRS (PITTHA SB, (IEAIT Bl AL LI R 2R 2

What are the hilly districts of Assam ?

WWWW%?

Name fwo tributaries of Brahmaputra River.

TG TR 73 GoRRIg i foradi |

Write two types of rural settlement.

Sy AR 7OF e feralt |

Name fwo tribes of Assam.
SN 75 SReiied i o |
Name two foreign countries sharing common boundaries with Assam.

TR (TS BRRe Rl T {3 g3 Kol g A e

Name fwo tiger Projects of Assam.
S 7! Y S W

What do you understand by soil erosion ?
g 3w & gme
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Answer the following questions in about 100 words each : (_an y nine)

3x9=27
ot gz e SR 0001 X oo o & (R 55

Write a note on Cotton Textile Industry of India.

TS FAIZ T Trwisie R @Bt Bl Bt |

Explain how raw material influenices on industrial development.

GOl AONS (51 ANTIE RoCT o (oleT 7efet |

What do you understand by Mass Commuriication System ?

PR g Ifercet [ o

‘Write the concept of Resource and development.

T O TSI LIRNCH B
Write the suitable factors for tea cultlvatlon in Assam

Wmﬁw%ﬁmﬁﬁwaﬁaw

Explain the types of mlgratlon with examples. |

AT WWW?:@ 01

(g)

")

(i)

(7
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What are the scope of Human Geography ?
R g AR & &

erte the advantages and disadvantages of air transport system.

wﬁww{ﬁmwwﬁw ferr |

Wiite & note on climate of Assam.

ST SIS @5aS B (Br vt

Discuss the problems of Water Resources in India.
CIS] TETATE AR SCeAbAl 37 |
[6]
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(})  What do you understand by sustainable development ?
MY T e [ e
() What are the problems of human settlement in developing countries ?
TRIDIET (T W Ao IR & oo
5. Answer the following questions : (any three) ? 5x3=15
oeTe ral epTeE Sew ¢ (R fofn))
() Classify the towns according to their functions and give examples of
~each class.
Il s oieT czﬁ“rﬁw IR eform JeR Tzt frr
(b)  Explain the causes and consequences of different types of migration.
%WMW@W?@WW&@WI
(c)  Explain the factors mfluencmg distribution and den51ty of population.
 OPRYR TG OIS RO @S (PR FRER I 30
(d) What do you understand by Global Warming ? Describe briefly the
effects of greenhouse gases in global warming. , 2+3=5
(TR TGIof Jfeitet & 3@l 2 CIES I Tae Iae Giew: 7 (T 2or
(6 Em‘nn 39|
(¢) Draw an outline map of Ind1a and mark the locations of the following

therein: . 2+3=5

,ﬂwvfﬁﬁm Wﬁﬁ?ﬂﬂﬁ%w\wwm—r?ﬁm@mw

el -
(i) Chilika Lake (o= z0)
(ii)  Narmada River (50t ?ﬁ“{)

(iii) Kaziranga National Park (Fif&=g! BIFAE W)
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